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[Introduction
(] Chapter One
(Philosophy

0 Philosophy 7 &74%u- 0+An- define “1£:49 @@9° NP2 opam+t LhN%A= A (M9 OCh: ek NPT
Atttz 4797 formal eeL0a@-7 Definition a7eeAnt=

(Philosophy is a process of reflecting and criticizing our most deeply held conceptions and beliefs.

FANES TIAT DA A7L TIC °A0 OA HEPE: NA W0 FONC @ DA Z0Ch : NA 0T OHt PAT7
TAP 01 hovahht AG A1 PPTIAGNT ¢ P9S0NCPOF @ PICTIaRNT P THTNT LT GANES
20AA =

[ Types of Philosophy

00 Epistemology
[] Aesthetics

] Metaphysics

[] Ethics

0 Logic

ALTETAT @7 W1 L v P PAA RiarAht: PO F9UCIHTT hEh 10

00 Epistemology
is a branch of Philosophy that deals with the nature, scope, meaning and possibility of knowledge.

0@-d T 9°1LT 107 K7L A@ h@OP LTLOAD 9°F APT7? 0Ot °Tam 9°7LT? 0Ob T haneT PoLAP0-
N°7L7 10?7 ROt 9787 10?7 K1 TIC 0@0-rt aoPrT R &t 10 PGP ®? (| AT RS

N°n72 3Lt avhhA PA@ NI°L KAG ARTE 9°7£7 107 RILUT RS P2A0NNT7 271.P9MG PEANET NEA
Epistemology 4 &meé-A

[] Aesthetics

is a branch of Philosophy that deals with beauty, art, enjoyment, perception, sense of taste and
sentiment.

TOAN 9°787 10?7 L0 V1Z: LT 10?7 @(1F 9°7L7 10?7 (1 avpah.f 9°7L87 107 27500 107 (1
o1, P00 AF M6@1F avhhA PA@- NI°LG 97877 10?7 @ F 976 9°7L7 107 (IFHELTE OLH NND-
A&N? AMMYT & ParANN-T7 P7L2mS PEANGS heA Aesthetics A 2mé-A=

[ Metaphysics



is a branch of Philosophy that deals with the ultimate nature of reality or existence.

PATE TIC PTT+ @LI° avgmC 9°7 “INT? PoPaRLA® TAR OOTT 9787 107 PAD AZT TICT7
PrLLLCTHT N&AT@ 19 &2 10 @9 (I supernatural power $£9¢° +ONTATF@- 107 2.MNE KA ? ha
LTI R &t TUINT PIPTTAD? PA@- AP 9°7L7 10 7 P00 BIPAT LAD- 7 P9LTAPN OHPPL
AhA fA@< 27 LN 9077 10 ? YeOT TINT 907 TIAT 102 RILYT AT PorANNTT P7L.mS Metaphysics
£0aA= og metaphysics[]] =

[] Ethics
Civics Ag +9°¢-Tuv-FA=

0 Logic
U7 PEANGS NEA 10 410977 AL P9° 1714 =

YIC 17 hA BN h 719 3T7 04F statement A4 proposition 9°7 A7 L1 ArerAhF=
[] Statement - is a declarative sentence that has truth value.

[] Statement - is a sentence that is either true or false.

Statement “1a+ Aot ®R9° VOt PP 07IC 1@ ORI

A7t 10 ®L9° VOt 1@ AT P9 7L.CE@ 071C statement L£0AA =

an :

[] Mekelle is the capital city of Oromia Region.

0242 = 5.

(] Barack Obama is the first black American president.
[0 All planets revolve around the sun.

PavBav ePE Uik 0.71CF @0t (false)

P LAPE Uk 0TICT Ao-rt(true) §Fo-=

NALY NAMPAL hé-k9° 0.71CF statement SF@- 70+ 10-:

[ Proposition - is an information content of statements.

Proposition oA+ £99° statement =7 H+ 711487 avlF @e9 ¢ statement = +CA%L “Iat 10+
Logic ¢-+1q@- h statement or proposition i@-:

ANHo0<7 LH B 05T statement A5 proposition NA7& ALyt o718 (interchangeably) emeanng-a =



71C 17 statement A4 proposition A7& ALrt TF@ TNt KELAT =

ANt-a7 L1 true/false AG 41§ ha“Lom &F7 vAN £H+

"in the strict sense of the terms , statement and proposition do not have exactly the same meaning."
Now let us proceed to the further study of Logic.( Av-7 a~&n7 a7aoAht) CHAPTER TWO"

(] Basic Concepts of Logic

Definition of Logic[]

NPT @7 L1 2V TIC logical 1@ : e 11C logical AR LAT® AfA OMTATE L5140 17 APT AT
logical 1@+ @g9° logical ALLA> ¢7LaT 11C O THhhA &Fh 7 L1000 P77

[0 What is Logic[]]
0 Logic(ni-Aaen7¢-) - is the science or philosophy that deals with and evaluates Argument.

0 Logic(n1-Aevn7¢-) “1a+ A Argument ¢92.2mS A§ Argument 7 £90.197919° ¢ 427N @LI° PEANEST
Aert 1o F8.¢ Argument 9°7&7 1@ ?

Dictionary ag N3¢+ Argument “1a+ hChC “Iat 10-= 25719° Argumentative passage afaTu-
+9°¢-Th.A= logic £71.PmG @ argument 17 SALA= AQh, A7P@-!

00 Argument (Aoon7¢-)

00 Argument - is a group of statements, some of which are intended to provide support or evidence
to conclude about something.

0 Argument (Aeon7¢) - “10F P01 “INEET oPNLT (191£:41 ORI° PP “NEET TmPorT hd K7L T1IC
L9580, avdmt Argument £0AA= NARY U-AT TICT ANT “I0T 1@<

1) AA A7€ 11C £9°57% Aramt P hmPCio- “InE (evidence)::
2%) MNLEO7 tmPort QA ATE TIC P90 TOAm@- €952 ( conclusion)::

L8 MA ATL TIC LKL APOmT L TmPor @ @LP PtmPIId- TINLE premises A Smé-Ax

MNLE @7 FmParT QA ATE TIC P TAMm@- £9°592 Conclusion +Na* £mé-A= SO,

[ Premises - is a group of statements that set forth the reason(evidence). Or

[ Premises - is a group of statements that are claimed to provide logical support or evidence to the
conclusion.

[] Conclusion - is a statement which is claimed to follow the alleged evidence.



TG AL NATLOMm- PHT® =

NAH.Y

(0 Argument = Premises + Conclusion.
A0t °ANPTT RTaAnt:

[ Example 1

=All Ethiopians are Africans.

= Solomon is an Ethiopian

= Thus, Solomon is an African.

U9° ATEELOLT RGGNE ST AT AL LR 10 NAILY NATT? AGEheE 10-:

hETU- hELA!!

AAP7 AP 10 A7 £9°59%(conclusion) Aeeam Tt &7 L “INLE CFmPI° 10 U-h9° A TCELPLET RGN
CTO A5 AAPT7 AACEEE 10 P7LNT GTTF@-:

NAILY hAL feh@- 9°an argument 1@-= °072E9° A A7L TIC £9°87% Aaenm Tt “I0T9° AAT7
ASCNE 10 AT £9°8%7% APt “INEEPTT FmPparGi:

NALLY hAL £P1@- 9°an argument he't £90.£ premises A5 conclusion Aa@- 994t 1@+ 9°n7£:9° argument
PU-AE £9°C OmT NAPT: DALY 5@« 1@« premises? 5@ @« conclusion?

[ Premises 1At QA A7& TIC £9°47% AePQmt 29°TmPar@- TINLE 10+ =

NALLY QAT AGLNP 10 AT £9°892 AavAm-t P1HmPI°10 TINLE :

[ All Ethiopians are Africans.
(] Solomon is an Ethiopian.

NALY U-A-k[] premises §Fa-:

[] Conclusion ™A+ La9° “INLEPTT +mPaeT QA A7L 11C £9°87% aopm-t 1@+ AAHY

[J Solomon is an African ¢e9.A@- conclusion 1@-:x

[ Example 2

= Three is prime number.

= Five is prime number.

= Seven is prime number.

= Therefore, all odd numbers between two and eight are prime numbers.



0 2 A5 8 avhhA A v--9° 0dd ®7CF prime number §F @« A7 £9°4%°% APAm+ K7L “INLE
Ptme9°1@- 3 , 5 AG 7 prime number §F@ PULAD- 1@ NN ATL TIC £9°57L APAmT TINCE
NAt+mes°7 argument @ “AT 1@-= argument s £9° £91& premises A§ conclusion AA@« “Ia+t ‘1@
¢4 @ 10 premises? ¢+5 @ 1@+ conclusion ?

[] Premises 71at QA A7& TIC £9°47% AePQmt 29°TmPor®- TINLE 1@0-= AARY (1 2 AT N 8 avhhA
P77 v-4-9° odd €PCT prime number §F® NA7 £9°4%7% AeAmt CFmPIIO TINLE

[ 3 is prime number.
[0 5 is prime number.
(] 7 is prime number.

ATLY[] premises G @

0 Conclusion ®1at+ L9° “MNLEPLTT tmParT dA K7L TIC L9 T0M@< £9°49% 10z AALY

[] All odd numbers between 2 and 8 are Prime numbers. ?e.a®- conclusion 1@-:

[0 Example 3

= [t has rained for the past 5 consecutive days.
= As a result, It will rain today.

Hé NS0 SHTAA A7 £9°87% Aoehmt A7L “INEE PTm+d™10- aadT +hF 38 5 ¢5+ NN aoNi- 1@
NARLY argument 1@« “IA+ 1@< F4.¢ ¢F5 @ 1@ premises? ¢4+5 @+ 1@+ conclusion?

Premises 99at 0A A7L 7TIC £9°89% Aavhmt A7 L “INLE CHmPIiIo- 1@ (ALY HE HGN SHIOA A7
£9°87%, Aar\m T K7L TINLE ¢FmPIi0- ANt tFad e 5 PST vk 1@ AARY

[0 It has rained for the past 5 days.(Premises)
[ It will rain today. (conclusion)

NARY logic “1AT nA argument £72.2mS PEANES HCE “I0T 1@< (AA ANDA (I premises AS
conclusion evhhA fA@-7 NI LT OLI° ATFIT L7LEMT AT £9L10P9° LEANSTS HCF 10+ NARLY hiv
9°7 W14A0T1?

Logic 718t 10¢-@ o@-13-(General truth) «iat ALLA°: AI°An :

TALET 01002 HCf LHE=LTH 16T 0013 17 logic AeLAT°:

hhta-ie Jlogic 71Nt 14R d@1F @e9° General truth AgLag°:

Logic #iat nA argument P92.2mG 1@« = “IAT9° QA A7L 11C £9°5°% AQmt (9°TmPad- TINLE KT

MNLE®F FmParT QA A7L TIC (PP TOM@ £9°477 avhhA PAO7 ITFIT P7L.2mG AG P911909° ¢
FANES HCTF 10



+mPory QA A7L TIC (P TAM@ L9059 avhhA PA®T ITFrIT 291.9mG AGT £91.1979° PEANGS HCF
1@~z

ant: A7erAht logic 106-R 6@-13 AP

[JExample
= All human beings are immortal.
= Samuel is a human being.

= Therefore, Samuel is immortal.

POD AT T ALLAT: Aov-hA PA@ AP 10z NAHY AovhA “LTF ALLAT:
APTU- RELA Aavhi TUF ARLAT® NAT £9°4°% Acvamt “I0CE APCOSTA= QALY logic 1@

I7 1P 00130 PN AP “IF 10z ¢ AD AP LT ALLA® AT LPLTNIO TINLE 1 104D
0@13@ IC MO logic herr? AA1L@-9° 9°n78-k9° logic 1042 0@ 1T ALPT NA A7L TIC £9°45°% AS
L@ L7077 Aavamt OAATmP 0T TINLE aohhd PA®T ATF1E 091.9mS 1@< OAHY

[0 Argument - is the inferential claim between premises and conclusion.
0 Argument - is not the factual claim between premises and conclusion.

ALLTUT RINLYT U T VAT PHTF®-: LA4G AL SO

Argument @£9° logic “Iat 0 L9 4%@-(conclusion) A5 0 “INFPE(premises) aohhA fA@: 1771t
?9°n72 3Pt (inferential claim) 7%t 1@ w78, ¢ 102 ow-13(factual claim) 9771t ALLAI°= AH jO-

= Human being is immortal.
= Samuel is human being.
= Therefore, Samuel is immortal.

£V va logic 1@ gAI@-=
MAD: 29°7°14-TU- av( L3P UAN:

Argument= premises + conclusion.

Argument ¢ premises 4§ conclusion &£9°C '1@-:

Premises A7& &G h A7€ NAL 0.71C(statement) AS 4@+ FAA= 11C 17 conclusion U-ALH A7€
0.711C¢(statement) NF 1o-::

[] Premises can have one or more than one statements.

But



[ Conclusion always have only one statement.
415 AL NATLOM PH-T
Argument “7at ¢ premises 45 ¢ conclusion £9°C @mt 1@ QAGA= F4.¢ (I argument @O\t PULTTFT7

premises A5 conclusion a7 &+ 1@ “10¢ 9 TFA®? 5@ 1@ premise? T @+ 10+ conclusion? ATH.Y7
AT BT 0PNL AGLATH

©A+ Tutorial Class. [] CHAPTER TWO
[IBasic Concepts of Logic
[JPremise and Conclusion

0 0080 T9UCIHT7
[JLogic nA Argument ?92.2mS PSANES NEA A7 L&PT A TSA
JArgument “7a+ £99° ¢ premises A% ¢ conclusion £9°C @m+ A7 LUP1 ALTGA=

0 premises A% conclusion eshhA fA®@ 771t ¢ inferential claim(9°n723®1F) 1@« *7%, ¢ factual
claim(11¢-® 0@-13) hAPPr? ReHGA=

[] Premises A7& &G h A7& NAL 0.711C(statement) AS 4@ A7 L9LTA heHGA=
[] Conclusion r-A1LH A7€ NF 0.711C(statement) A745A@ AL+GA=

0 4@ F9VCHT7 £99° 0 Argument @-ar ¢9L7717 premises A5 conclusion A7 %+ 10« "o
P TA@? 1T @ jo- premises[]? ¢H5 @« 1@< conclusion[]?

0 argument @-a+ P9L7717 premises A5 conclusion “10¢ 97 A« N v-A+ ALY HE 10-=

1¥m-) indicator words
2%w-) inferential claim

U079 RraoAnt

15a@-) Indicator words

[Well engidi... premises “at 0A A7& TIC £9°5%°% AehmT A7L TINLE @LI° R71L N1+t s Cno-
oL LI imPar®- M-z

8.2 K7L 1IC W74 10 A7 L9457 AnmT “INCE @L9° N7 LT NSPCA : TINLEDT oed
PN1EeET AN PP TMPIVTFO PPNEE T mEC, PALTT RTmeoINT =



AAlLY 0 argument @0t helL 77+ statement +F avhhA 078+ m%ol FA+TF7 ¢tmPoro- statement
og ¢+mear statement +F premises §F @ It 1@<

AP PR7LTF mRU, PAT PLOnT CHPE SF@?

[JPremise Indicator words

= Because = As

= Since = Owing to

= Due to = For

= in that

= Given that

= Seeing that

= For the reason that
= May be inferred from
= As indicated by

= inasmuch as

hAg etHEHST oo “INCE @89 N7t mRTL PAT ALPr (AT7INNT O £19° premises indicator
words £0AA-:x

AAILY N argument @0t ha- statement +F oavhhA hAg eHHLHSGTT FART PolmPor@- statement
oL P9 mear-T statement -+T premises §F @ AT 10-x

AL TT ATANT

[Example 1

" Expectant mothers should never use recreational drugs , Since the use of these drugs jeopardize
the development of the fetus"

£v7 argument AfTU- ALLA

¢ +7 @ 10 Premise[]?
¢4 10 Conclusion[]?

PLI° WILTICHTU- DA A7E TIC £9°87L AorQmT A7L “INLE OLI° W78 °N1eT 9°tmPord-
premise £0AA:= F£8.¢ TNLE@T ORI °N78ET APNd P9 ImP VTF@ N7 8T ORI TINLE mRTL PAT
Az DALY statement & 0721t mR L PA+ hthmPor premises SNAA NATA= DALY LY 9°40 0Lt
N8t mEL PAT e @ 7
[ Since ¢9L.0@ j@-:

NAILY since ¢ HIA@-7 °070T mR7l PAT ¢ FmPoro- statement premise 1@+ T9A+ 1@< QALY

[0 "The use of these drugs jeopardize the development of the fetus"



?7.A®@- premise 1@ “InT 10+

NARLY Argument ¢ premises A§ ¢ conclusion £9°C @m.+ NAPT A7L5 @ premise ' pAT @
conclusion £UrSA “IA+ 1@ NARLY :

"Expectant mothers should not use recreational drugs"

PoLa@- conclusion SwPSA “IAT jm-:

ALY “I0TPA PANTFU- 1IC conclusion @It ap@9°LoYEe VAN NAPT Pl AL 1@+ PoLbarma- ANAT Y-
a0 @« 0.71C(statement) conclusion 1@« A7 41 A= premises A5 conclusion v 1@« ¢9.0A “1he NI
PAT @ avPavg AL AT LTAN : avhhA AL AP STAN @ ool AL AT LTAN: premises AG
conclusion N0 A¢olaop avpft AtTFneg°:

¢ example 1 P5 8704 vaQ :

"160 MC AGTT LIS o LULTT av@NS PANVF@9° NI LEI° ATHY awULtT ¢ 8707 01T
ALD AL QNA“LTAT"

AALY "1FAMC AT P7THST a0 @ hit @-AL PAVFD-9" QAT L9457 RTLTINT WTL “INLE O
w78 °N1etT tmPIio-

" PIIUGT & hi AT ¢ 070+7 0L RLD AL NATLTA®-"

PrA@- @<= AAHY premise &7 4§ conclusion *7 OPAx oAt AFTAAT=

[ Example 2

"Given that Moby Dick was written by sheksper and Moby Dick is a science fiction novel , Sheksper
wrote a science fiction novel."

15 o 1o Premises ?
¢+ m- jo- Conclusion ?

Premises ®1at nA A7& 11C £9°87L AaPhmt A7L “INCE @RI WL N1t P9 ImPbar - j@-x
MNLEDF ORI N7 ET APNd LA N1t mEel PAT( premises indicator words) aeme9°
A7TAAT= DALY argument & @t hoLTF statement +F aohhA 078+ m®ol PA+7 P9LnedP®
statement ®g9° ¢71.mear- statement +F premises §F@- It @<=

ALY QLY Argument @OT A< °N7eT mRoL(AANT) PA Ok 107

[] Given that ¢o1.0@+ 10@-:

Given that P92.40-7 9072+ meoL PA etmeor-+ statement +F LA



= "Moby Dick was written by Sheksper".

= " Moby Dick is a science fiction novel".

NALLY  v-A-k premises SF@+ 90T 10

ALY “INFPA PANTU- TIC

"Given that Moby Dick was written by Sheksper and Moby Dick is a science fiction novel."

AU7 ook

"Moby Dick was written by Sheksper" eoL.a@- statement 9078+ m®eL FA +mPLA “10+9° 'Given
that' 7 +m®7A=

"Moby Dick is a science ficti on novel" oL.a@- statement 97 078+ Mm%l PA AA+meI: hily 9°7
W748507

Ut AS hu-AT 0AL premises hae? A 17 0 9072+ m®el, PA(premises indicator words) a»<ne
N74.A71 K15 @7 premise AF 0 078+ mRoL PA s ATTANT OLI° L U-n79° premises
N7t mROL PA oG WTTANT

tavi\hk:

" Given that Moby Dick was written by sheksper and Moby Dick is a science fiction novel" *7a+
A7 TANT =

eI Lo9:

"Given that Moby Dick was written by sheksper and Given that Moby Dick is a science fiction novel"

U-AE9° RFAM:

[[Conclusion indicator words.

[] Conclusion “1aF @INCEPFT aoalt 0918491 OLF® “NCEPTT +mPavT QA K1 1IC L9847 aodmT
Nt Y-

F8.0 TNLBEPET FmPavT (A K7L 1IC L9572 NIOT @ £I°8T@T AdPINd £9°87T mETL (A ANT)
PALTT aoPI° R TANTE

L9897 mEo. Fat TNt 0 A7 T o conclusion indicator words “1a+ 1@-:

QALY 0 argument = @07 hoL7F statement +T evhhA £9°89% m2ol PALTT ¢ L.mPoro-
statement conclusion 1@+ 1A+ j@-:

AP 987, Mm%l PALT PLONTF A191T ST @?



Conclusion indicator word

[] Therefore

[0 Wherefore

[ Hence

[ Whence

[ As a result

[] Thus

[0 Consequently
[0 Accordingly

[] it must be that
[ it follows that
(] implies that

[] Entails that

[0 We may infer
[0 We may conclude

AILY Qavi £9°597 mEe), Pa+ oe9° conclusion indicator words £0aA: v-A79° PHFm-! !

NARLY 0 argument - @07 ha statement +F ovhhA hAg ¢HHLHSGTT PAT P7lmPord- statement
conclusion 1@+ “1at j@-:

PANLPTT AT ANT:
[0 Example 1

" Easter is always on a Sunday. Consequently, the day after Easter is always a Monday".

¢+5m- 3@ Conclusion?
¢ 15 o- jo- Premise?

Conclusion 14+ 710287 +tmParT QA A7L TIC £9°4592 avAmT 10+ LI°KT07 AaIND LT £ I°57
Mm% PATT oomed® A7TANT= QALY 0 argument & @O ha statement T evhhA £9°89% mol
FATT 27 mear@- statement conclusion 1@« Tt

(LY 9°an oo0lt £9°4°% m%el o Consequently folLa@- j@-:
Consequently ¢71.407 m%7L. PA P-tmPoro- statement L1

"The day after Easter is always a Monday."

ALY 2v '1oConclusion oL@ =

0 Example 2

"All banks are financial institutions. Awash Bank is a bank, it follows that Awash Bank is a financial
institution."



NALLY QLY a0 aon/-t it follows that PrLa®- £9°490 mPo1. FA 1o@-=
it follows that eoL.a@7 £9°%7% mEl. A ?+mearo- statement Lo19°

"Awash Bank is a financial institution"

NAHY 2V conclusion 1@ A+ 1@-:

&G AL W1 WILIPTEAT LA NT16-TU-=

[0 Which one of the following is/is not premise indicator word?
[0 Which one of the following is/is not conclusion indicator word?

+ae 0 9°CR arAN 44G OATLOM -hT79° mBoL PART ATFEHTFO- 210A =
oL LA

Argument # @-0r indicator word AP+@+ P15 @+ 10 premise ¢+5 @« 1@ conclusion A Fme PATF U=
a0 :

" Because many movie actresses are millionaires and Angelina Jolie is a movie actress, it implies that
Angelina Jolie is probably a Millionaire."

[] Write the premises and conclusion of the above argument?

TN AT A0 NATLTA (AR o718 FHIE0F =

2% w-) inferential claim

0 Argument @0 £9L77F7 premises A% conclusion “1@P h9°7Fa0Fa- HE A7% inferential claim or
inferential link 1@z ev7 Hg ?9°7mPer@- | argument -+ @-a+ PoL77+ statement -+F indicator word
haATFo- o=
(0 indicator word haAF @« A7 &+ AL C17 1@ premises AS conclusion *7 aeaf+ P9° 7T a@-?

appt P97 TA@ (I premises A9 0 conclusion @»hhA aa@- inferential link @-x
[d inferential link “7a-+ £99° 0 premises 49 0 conclusion e®hhA fa® NI° LG OLI° VTFIT 10-:

NP LT 787 10 ?

[] Premise - 970t A A7€ 1IC £9°57% AovQmt P9°SPCNOD- TINLE 10



[] Conclusion - “IAF L9 “NLEPLET FmPavT L9 1Am@D LI°87L TINT 10~
NP LGTO AN A7L AGT AT AR 10z 9°n72-k:9° premise ¢ conclusion e»15F 1@-x
nARY indicator word ha-+am?7:

Argument & °7L7 1@ AaPING PLA1D? P EmPor® NG P°1LT 107 TINFANE P4.A1@ VA 9OTLT
1@-?

AILYT TEEPT ATTT ovmPP P15 @ premises a7 LT AS 5@ conclusion A7 &1 N+Ax aoaft
YRRV

(] Example

" Paying off terrorists in exchange for hostage is not a wise policy , this action will only lead them to
take more hostages in the future."

APTU- heLA gV argument 9°79° ALt indicator word AA-+meerd®: QALY premise +7 AT
conclusion *7 “1@% ¢9°7Fa@- 0 inferential link 1@+ Ad-k A7+ Phsts

0o sd 29°1°1¢-F - logic £72.2ms@- argument hae2NF@- argument LALA= “7a+9° hchC oA
hLLAT:

"Aristotle is the father of Logic"

©A+ tutorial class. [J&15 A2 Al TfE NA“LOMNT LV7 part QAN AFLST S10A =

[ Chapter Two

[] Basic Concepts of logic

[ Types of Argument

(] There are two main types of argument: these are [

[0 Deductive argument
0 Inductive argument

Akv-7 dedeuctive argument a7aeAh-t:

[Deductive argument

Deductive “1a-+ from General to specific “1a+ 1@« AeH0ATU- +9°¢-Th.A Biology +9°vC+ AL 9°G9°7F=

Logic Ag¢ fa@- Deductive 17 ALA Ahh. A7P@-:



[l Deductive argument - is an argument in which the premises are claimed to support the
conclusion in such a way that it is impossible for the premises to be true and the conclusion false.

[l Deductive argument - is an argument in which the conclusion is claimed to follow "necessarily"
from the premises.

[0 Deductive argument ¢ argument A2¥+ @<= argument “7a+ L OA A7L TIC £9°5%°% AhmT
TMNEE @LI° NTLTF PUIPLAN h LT 1@

8.2 PG PCN®- SINLE (premises) A A7 T1C P9 1m@-7 £9°5%°%(conclusion) e»a 1 ao<p-
P97 L94.@ NPT : (KA ANMA PIPSPCAD- “INLE A £I°59Lm- av-p: (oo PhTG(Guarantee) hvrio-
Deductive argument £0AA:

2y “1at £99° Deductive argument A2 fA®@- premises(?9°TPCN@ “INLE) true 1@ N7 NGO @ AT
true 1@ N7 La-MI@7 “INLE (premises) FmPar7 da A7L T1C £9°m@- conclusion(&9°4e2) false aovr7
heTAP: PPNTEEI° LPLAMD TINCE A £9°87L POTS OAPT= SO,

[ in Deductive argument, " assume the premises is true , it is impossible for the conclusion to be
false."

ALY TINHPA LANTU- TIC " P9°SPCN@- “I0LE (premises) true 1@« A7 NSON" T+ “10LE o
P87 142 vP(general truth or fact) eovr7 ALmNP0F9°= eoLPCN@ 2INLE 10&-P VP LPT° : 0LPT°
! AT OA°CHT7 true 1@+ NA7 10+ P9°SAND- @LY° assume PI°GLCT1D-: NAHY

0 Deductive argument A2 e+ premises (“10ZEPT) true §F @ A7 assume ASLCIA7T : TINLEPE
L9 n L9°471@-(conclusion) e 1 ao POTS AA“LAM-T : LI°87L@-9° true LIPTA “In+9° false
Py hRTAI:

[ Example 1
= All planets do not revolve arround the sun.
= Earth is a planet.

= Therefore, Earth do not revolve around the sun.

taohl: U7 9PAM: TALET (100L HEP ALHGY® P9LAD- TINLE N 104 0@-13@ IC P9I 10+
AT O[F 10 MFRNAT O AN TIC 1% AT O AIPCATT A0 10 A7 10 PIPSAN@-: ALY :

"NALY TAZFT (1 UL H-CP ALHGI® AG avlt TALT G1" NAT PPLAGTTFO “INCEPT 0011 GFo-
ANA7 assume ALLN7 : PPLANGTTFD TINEEPT LA " avgt N0VL H-LP RTHC" NAT £9°857% AevamTt
av-f- pov-f- PAHS NA“LUr Deductive argument 8rsA “In+ 1@

W7 %t 10 PTG PULPT?

tavihhk:

" g9t TARET (1 OUS HEf PUILHS NPT ¢ ool L9 TART hWPrF @ AARLY avét (1008 HEF
ARG a"



0 Example 2
= All freshman courses are simple.
= Logic is a freshman course.

= As a result, Logic is simple.

[0 Deductive argument 1@< A5+ +7Frt=

[ Example 3

"Mount Kilimanjaro is higher than mount Ras Dashen and Mount Ras Dashen is higher than Mount
Entoto, we certainly conclude that Mount Kilimanjaro is higher than mount Entoto."

[0 Deductive argument 1@-: &7 £+?

"Kilimanjaro +¢-¢& h Ras Dashen +é-¢ gnama 2§ Ras Dashen +é¢-¢ h Entoto +é-¢ gnamMA" QA7
PLLANGTTO TNCEPT true §F@- NAT assume ALLT

naiw Kilimanjaro +¢&-¢ h Entoto +é-¢ 20AMA NA7 £LLI 1@ VAN OQF aoPT AhLTAT P°N71eEP
MNEEPE AL /7LO POTS NA“LPHT : 070k

" NATTIEC h &N ST Féd Am & S0T7 L£919° h ATmm Fé-d- hAm ¢ QALY hAT1TEC h ATmm
LNAMA "

Al AU-7 £99° A7£ argument Deductive @27 A§ AAoPPr? aoAf HE&LPTT RrovAht= 3 H&PT
Y

0 1) the actual strength of the inferential link between premises and conclusion.
[0 2) the occurrence of indicator words.
0 3) form of argument

PavPav @« HE, AL PTICHTU- 102 TINCEPE L£I°KLT aviv (| oo £91.L94+F ©OLI° POTSG
PoLam-+ hwer Deductive argument 1@+ 294+ 1@<= 2y 910t LA PLANTTFO “NECEPLT 1062 VP OLUPHP
Nrre® : 6@-1F GFO A7 assume ATLCINT= TNLEPE LA A L£I°K7%@- avp PATS NA“LAM-T
98 false o7 ARTAI=

[2) Indicator words

A7& Argument Deductive @7 A®10P W90 Fo- 1LPTF A7 indicator words 7 0 aeme9=

[ Deductive argument “1at “INLEPLE A LI°KL@- oo POTS P7LAMNT A LT 10 NAGA= F8.°
NNLEPT A £I°L7LD PATE oPSTFOT Aavnd P9 TmPoIFo- mEol Fat(Deductive indicator words)
Afvz 392 RiILY mE?. FAat 9°7 9°7 STF@- ?



Deductive indicator words
[0 Necessarily

[ Absolutely

[ Certainly

[ Definitely

NALLY ATHY7 mR7Y, PAT LI°8L@- AL e7Lm+9° argument Deductive argument 1@-:

[ Example 1

" Anyone who is above the age of 18 has the right to vote and Abel is above 18, therefor e it
absolutely follows that Abel has the right to vote."

0 Example 2

" Mekdes is the mother of Saba and the sister of Leul. Accordingly, it definitely implies that Leul
the uncle of Saba.

NAHY ALY v-at an®T Deductive argument §F @+ (A P-+meao-t+7 indicator word e+ 0
b [ H]

(3) form of argument

A7¢ argument deductive eePr7 h9°G@-PUF@ HLPTF avhhA A74% form of argument 1@-= form of
argument °7a+ £29° argument & PLL00+F 71L& “IA+= iy 03T ¢-FHLHST argument (loo-a
deductive argument §¥@-:

A) Argument based on mathematics.
) Argument from Definition.

C) Categorical syllogism.
)
)

=s)

D) hypothetical syllogism.
E) Disjunctive syllogism.

AETYTAT O WravA Wt
A) Argument based on mathematics :

is an argument in which the conclusion depends on some purely arithmetic or geometric
computation or measurements.

0 Argument based on mathematics “7a-+ maths 7 @29 £99° ¢ maths v¥¥7 A7L “IMNLE +mPorT A
A7 TIC £9°49% oot TIaT 1@<

F4.¢ W1% T 10 argument based on mathematics deductive argument ¢vrio-  ?

Prh @29° o0 VT already proved and measured P NAPE @ AL K@ avp (lov-h POTS
Py L AN TINTI K7L TINCE PHmPI1o- Tt 029 POt YA true 10+ : QALY 9910 VT AT L



TMNEE TmPoey OA R7L TIC P9 TAm@- £9° 5% false aoP7 AeTA9=

A0 ¢ ATL 19% 4 171 § 3 ATA  HILA @NOT Addorm: hi LY HINA @0 7 §6F6PT Ane:
A £9°57% (L.AT P1.9L% 0 argument deductive 1@z 9072k avfavC eHMADF P7PFN VI +mPTLA=

NAILY H7L& @OT 7 §&6é6 Ah A £9°5%9% Aaoamt A7L “INCE P tmPar®- 4 ARG 3 77 avLav(C 1@-:
NAILY H7LA& @OTP 4 9771 AG 3 ATA 054 7 §4G6PT A AT £9°87% Aaonm+t POTS 1@+ TINTI°
7 46646 hir e 1980 PAm@- £9°89 false aoP7 heTA9°:

0 Example 2

"Because triangle A is congruent with triangle B and triangle A is isosceles triangle, it follows that
triangle B is isosceles triangle."

LYo 291 +0 v 10-= dany deductive 1oz v-at triangle 4T congruent her 9°7 9°7 NI LG
RTBATFO: 9PF0 AR AP TU-F A= 2UT 091N U FmPorT 10 Lav LI AY Tt

B) Argument from Definition :

is an argument in which the conclusion is claimed to depend merely up on the definition of some
words or phrases used in the premises or conclusion.

Argument from Definition “7at a7£ “1% h +m+9°i10- 0.71C(statement) @ar L7L1707 PN : PHT
2A definition £9°4%7% ALC? 1PN

[0 Example
"Abebe is Mendacious. Therefore, Abebe tells lie."

taoplk K7L TINCE P hme9eio- "Abebe is Mendacious" 9L.A®@-: A7 L “INLE ntmeI0T 011C @AT
"Mendacious" ?7.a® FA FCTovc @0 PULGIC TINT 1@+ AARY PHYT PA TC19° conclusion
ALLM@-: argument from Definition «1a+ gv 1@-:

F4.2 W1&T 10 argument from Definition Deductive fvrio-  ?

+aopnhk: : Premise nf- A2 fa@-7 PA definition 1@ ¢ @hL7 conclusion £LLTI@-= &Y 0T
premise - 0@t 1@ A7 assume ASLCIA7 : premise Nt L9 6@+ h't ¢ premise N7 PA
definition ¢+J- ®nL7 conclusion na9°sLc1@- conclusion * false ao1r7 ALTFA9°: IA+9° Premise ni- A
conclusion P s LPIPA=

3) Categorical syllogism
Syllogism - is an argument that always contains exactly two premises and one conclusion.

[] Categorical syllogism - is an argument in which each statement begins with one the words "All",

Ilsome"’ Ilnol .



Categorical syllogism “7at v-A+ premises 45 A7£ conclusion fa@- argument A.P7 v-a-k premises A5
K785 @ conclusion P72, 89°¢+ "All", "some", "no" M-+AAT FAT 10-:

NALLY argument - v-A- premises A5 A7£ conclusion fa@- v-§ v-a-k premises A5 A7L5 @
conclusion ¢9.89°4+  "All", 0 "some", 0 "no" hwrr argument - Deductive 1@+ &1+5 AL AT U

[ Example 1

No Concise member is silly. Some people are silly. Thus, some people are not Concise members.

0 Example 2

All books are interesting books. Some books are fictions. Hence, some interesting books are fictions.

NAHY v-ak anPF Categorical syllogism §F @<= naa Anaa Deductive argument G @-x

D) Hypothetical syllogism
is an argument having conditional sentence for one or both of its premises.

Hypothetical syllogism “7a+ v-a+ premises 45 A%£ conclusion fa@- argument A.°7 v-A-:9° premises
07 0 conditional sentence ¢71.7a6- hPt ®29° L9 hu-A+ A7% premise N conditional sentence ¢7.A8
hvr Hypothetical syllogism g0AA =

NAHY hae eam-7 £7. 2994 Deductive argument g0aA =

(0 Example 1

If it rains , then I will not go to school.

It rains.

Therefore, I will not go to school. [] Example 2

= If electricity flows through a conductor, then a magnetic field is produced.
= [f a magnetic field is produced, then a nearby compass will be deflected.

= Therefore, if electricity Flows through a conductor, a nearby compass will be deflected.

v-ak °an®T Hypothetical syllogism §F@- = aaa AaaA Deductive argument §F @-=

E) Disjunctive syllogism
is an argument that contains "Either.....or...." statement for one of its premises.

Disjunctive syllogism “7at+ v-at premises 4§ A7£ conclusion fa@- argument A7 hu-a-k premises
oohhA A7L5 @« premise 1 "Either.....or...." ¢+P+<Z 011C Wt =



NARY argument -+ v-AF premises A§ A7& conclusion fA@- v-¢ h v-A-k premises A7 5@ "Either....
or...." statement ha@- argument = Deductive 1@« “ja+ j@-=

[ Example 1
= Either Daniel or Elias will come to the party.
= Daniel do not come to the party.

= Therefore, Elias will come to the party.

[ Example 2

= Either X or Y.
= Not Y.

= Therefore, X.

vk °anP¥ Disjunctive syllogism §F@-= ana ANaA Deductive argument §F@-=
A0P PHSGD AN

U7 FIUCT TTIE@9° 4914 AL TING PANTI° = NALY PAINTU7 “175@79° 7P (1LY aomPP
TTANTFU-2

@Inquiry receving bot

©A+ tutorial class [JHé £9°7914@« F9°VCT 415 AL av@-alk (ATILPC U-ATU-9° NL°N ATL%T L10A=
LANNF U7 “175F @79 7P+ (1 @Inquiry receving bot eem?® +FAATy-=

&3 i A z OQver ao@-a)-t7 <, A0+ FLCANFATFU- = AUT @OL F9PUCT : PHICUCT
11

[ Chapter Two

[ Basic Concepts of Logic

0 Types of Argument

(There are two types of Argument:

0 Deductive Argument
0 Inductive Argument

NaLo- +9°vCc 77 na Deductive argument +9°2 A= Ak 1@ 29003 @NA"  ? RWET hoPt
PoLavAN PA9° | Az LFC Az LFC A% LFC... = AL AODFC avAN



Al A7 @9 e 29277140 hA Inductive argument @

[Inductive argument

(Inductive argument - is an argument in which the premises are claimed to support the conclusion in
such a way that it is improbable that the premises be true and the conclusion false.

OInductive argument - is an argument in which the conclusion is claimed to follow only probably
from the premises.

OInductive argument - is an argument that involves probabilistic reasoning.

Al AUT7 070 VAT AaPl St RT9PhC:

Inductive argument ¢ argument A2t 1@z argument “7a+ L9 “NLEPTT +mPorT NA AT TIC
&I 57, Mt 1@<z 9.0

NLE PE(premises) £9°%9%@-7(conclusion) NANMHUT @<(80% @L9° 90% 9°G9°7) POTS oL+ hvh
Inductive argument g0AA= gy “Iat LI

Inductive argument A2 fa-t premises(PPL0-T “MNEEPT) A0 TF@ NAT7 NAI°CATF assume
AGLCINT: F8.° K@it GFo- AT assume LLCIASTF@- premises(“1nLEPT) A £9°5e%L@-(conclusion) 80
9°C9°7 TCATT @E L9 90 9°G9°7 TCATT PATS NA“LY T @ L8710 O-GT o7 (LA hLeTLO-9°
0L o0t foory 0L N NPT 1@-(improbable):

0L9°N +hdta™ ALY 2= T ANVFC AT 43 KPATU- All=
Tavh\h-k
[0 Deductive argument A2 “10Z% PE(premises) A £9°%9%@+(conclusion) e2a (o2a-(100%) PATS GF@-=

NALLY “INZEPE(premises) a@ 1t Wwr £9°57%@-9°(conclusion) A@<1t 1@<(100%) ®LI° @+ ooy
heFa9°(impossible)::

TNELEPE LT (| 1N&PO AAP® AT LWPH° OFT PP AT 0 APPCATT Aot §To- NA7 10
assume ¢9°4G LC1@-:

[ Inductive argument Ag L9 108 PE(premises) AL 94 L@-(conclusion) 80% @e L9 90% 9°59°7
10 PG PTLP T

NALLY “I0ZEPE(premises) a@rt awr £9°%7%@+(conclusion) A@<rt eoor? 6L h&+5 10+(80% or
90% 9°69°1= (KA ANMA @ aor? 6L 4N NP5 10-(improbable)::

8.2 LB PE(Premises) N 1042@ AA® A@119° LU+ ONT9° LU+ AT MAPPCATT? Aot STFo-
A7 assume ASLCI07= NANLY “INLEPE(premises) A< rt §F@<: SINLEPE(premises) A@<rt v-1@-
4o @-(conclusion) @0t eaor? 6L 4A NP5 hwri(improbable) : (nmA ANMA A@9F PorPT 0L K



h&+5 heey @ Inductive argument £0AA =
0Acm '+ Av-7 ¢ Deductive a5 Inductive argument A1+ 04T h.A =
TOKET we At AnPTT RTevaht

(JExample 1

Argument I[]

All women are beautiful.
Hana is a woman.

Thus, Hana is beautiful.

Argument II

Most women are beautiful.
Hana is a woman.

Thus, Hana is beautiful.

ALTU- ARLA U-AE7 argument [:
¢+5 @ 1@ Deductive argument? ¢+5@- 1@ Inductive argument?

ANt 9110 29100 AN? BA KET AO-PLA: BA A0t § @4 § ANLSTE N AHD AAAY
“chC A7h
WA ATLAT: 9787 10 09L00PT0- ALAPI° = AL ARATI=z Al A $TA : ANTI°C: "ALN
NATAMTT APNISAU-" A A TINCLSET PmAx

A7& argument Deductive @g9° Inductive aotP+7 A®1@P avEavse £9°6LCI1D- TIC

[Step 1
TMNCEPE(premises) A@-1rt §FO- NA7 NAICATT assume AGLCIAT: (I ThNAT @ AA9® Ao o+
AT STAN: AT AP1079° N9° AT A®-1T 1@ AT assume AGLCINT =

[step 2
NALLY "B PE(premise) A@- 1t §F@-= F4.¢ “INLEPE(premises) A@<rt v+ £9°57@-9°(conclusion)
A0 hr 0g9° o0t oo 2912 A hw'h argument -k Deductive argument £0adz= 0A794 L9°

ML PE(premises) A@-rt U@« £9°49L@-(conclusion) A@-1t PP 4N W& T hwr 0e9° o0t
foory 0L NPT v argument - Inductive argument £0AA= NARLY 9°An@7 AdL AGNEC-@

Argument I (fovgavse@- argument)(]
All women are beautiful.Hana is a woman.Thus, Hana is beautiful.

All women are beautiful .a@- »§ Hana is a woman ?7.a@ “I0LE LT (premises) §F@-= AALY h@-1t
STF@- A7 OAPCAT7 assume ATLCINT= hH



"Ue9® 0T STE NP US 0T hPTT OARLY U $7TE ST:" DALY

"U§ PTE ST LA &9°4e%(conclusion) A@ it 1@« 9NTEEIC TNLEPE AL 4TI oo POTG
nA“Lrrt= hAlY Deductive argument y@-=

U5 @7 argument(argument II) 7 A7eeAht=

"Most women are beautiful. Hana is a woman. Thus, Hana is beautiful."

[JMost women are beautiful ¢.a@- x5 Hana is a woman ?9.a®@- 0.8 P (premises) §F @z AAHY
A0t SF@ AT assume ASLCIAT: hH "ANHUET O-+F $72 W' : U5 0T ZPrT QALY vs $7% S
taohhk AN

AMHUUVFE 0T $78 CFo- @ 0§ 0t SFs F8.°2 U5 WA MHUEE 0T o0 ooy 020, hetd 1o :
NALY US $7E PaopP7 02, WG+ G 10z TINTI° & I°890 6@t PavPy 08N N&HT 10z gAY Inductive
argument @-z so,

A7% T 10 U5 h AMUEE 07T (most women are beautiful) ferr7 024, h&+5 e« ? Probability
+9°¢-Fh A s

JArgument I- Deductive
JArgument II- Inductive

ANL ARA PP A PN Aen NP0t

ARTE 1L9°N A72107FU- % 10+ 10+ 77%, Deductive argument 7 0AL@« +9°L5A= Hé 9717140
Inductive argument 7 1@-=

Al AU-7 L99° £9° 710+ K7L argument Inductive argument @07 aA%10P 290,457 v g
H&PT7 102 A0t aoAf HEPTF hi:

1) The actual strength of the inferential claim between the premises and the conclusion.
2) Indicator words.
3) character or form of argument.

O0ET HE&PT 1L9°N ArerAhJ-To-

1) The actual strength of the inferential claim between the premises and the conclusion.

2V HE PLI° PTICHTU- 10 TIATI° TINLEPE A0 1T GF@ QN7 MAI°ChT7 assume AGLCIAT: AAHY
NEPTE APt GF®: 359 “NCEPE A0t 10 @ &P 0 O-F-F PaoPT 0L NPT
hri(improbable) @e9° s@-rt eaor? 6L A h&4+5 het Inductive argument gnaA =

2) [Indicator words



A7& argument Inductive rr7 a%10P W1+ 0VF 0 H&PT A% indicator words 7 eeme9® 1@-=

OInductive argument A+ “INLEPE A LI°47L@ (ANMHUT@(80% 90%) POHS PoLUPr0T h. LT '1@-:
3.2 TMNLEPE ALPLLO NANHUT @ POTS arPGTF@7 A%1aoAN T mB9), PATT BTmPoINT= ATHY
m®99, at Inductive indicator words g0anx= 9.9 ALY m®?L Fat 9°7 97 SFo- ?

[Inductive indicator words[]

(Probably(probable)
(Improbably(improbable)
(Plausibly(plausible)
[(Implausibly(implausible
OLikely

(Unlikely

[[Reasonable to conclude

NALY AMLYU7? m®el, PAT L9°57L@-(conclusion) AL ¢7L.m+9° argument Inductive argument £0aa =
Al °ANPTFT ATaeAht

(Example 1

The Vast majority of film actors are charismatic.
Teddy Afro is a film actor.

Therefore, probably Teddy Afro is charismatic.
[JExample 2

It has rained for the past five consecutive days. Therefore, it is likely to rain today.

nanv Example 1 a5 Example 2 Inductive argument §F@- “ia+ 1@ 9°072-+k9° probably a4 likely
fo2.04- Inductive indicator words na+mear-:

&t AG &7 HnFF¢FTF7 heefi D162 @6 \hA FavANT RWT7PMAT @ ANETUT Vs
"W M AL 06 Nl Wé.. ANE ATE O6 ADCTU- 4.7 (AT O-&F:"

"PavBavg @ hovit P9, 146 K fAU- Dynamics £72.0A heh @nEav-= 25719° General Physics A
FONGFATU-= RS 9°7 T4.mdé apaATU- = highschool 4§ pre A2 a771¢C normal force 18t 0.2PF7 L6
£o1.2M upward force 1@ AP-HAA7 1@ £HUICI@-= AS Dynamics hCh AL 0797C 17 a9°v$- downward
force 1@ Aaxz hi A7£ PhAaT7 914 9°7 Aa ovaATu- "EFC normal force ah downward v “10tT A7
of AL L6 PoLeHY force NA“1LSC 1Ak NBTPAE 10 P9°C- a0 L@ @INT 10+ @ NAHY LUT hCh
AATICT° A NAGT RECm o

o-¢: ¢ A+ tutorial class 00T her@i 2142 @& +FavANGA= PTI°UCT LE 8L @f FICUCT=



3) [Character or form of argument.

A7& argument Inductive arr7 h9°s@-P0Fo- H&PT A7% form of argument @<= form of argument
A+ L9 argument & P7Lee0NL 0T @RI LTLPCANF P TIL @<

hiw 03T ¢+ninst Form of argument ier-a- Inductive argument §F @ §F@-=

[0 A) Prediction.

[] B) Inductive Generalization.
[] C) Casual inference.

0 D) Argument based on sign.
0 E) Argument from authority.
0 F) Argument from Analogy.

ANL ALTAITAT®F Rravhhit:

[Prediction

Prediction - is an argument that predicts what will happen in the future based up on what has
happened in the past or in the present.

[Prediction “1a-t hav-7 0&-F(past) £1047 “1lE @29 hv-7(present) AL PA7 “INLE a0t (19184 A
L4k av e TInT -z

A9°AN: HET R I°C A 3 FhFF2 PG5 NGO LWHT0=2VUT R7L “INLE +mPaet 119° UG SHTOA A7
N7110e prediction 1@ “1a+ 1@-= SO,

" It has rained for three consecutive days.As a result, it will rain tomorrow."
[Inductive Generalization

Inductive Generalization - is an argument that procedes from the knowledge of a selected sample to
some claim about the whole group or population.

NPLoLE VAT TICTT R745%
[ population- ®1a+ A7 1 0NN @LI° (&7 “INT 1@<
(Sample - 27a+ £99° haNa+ @L9 (kL avhhA A §o°G ¢tovlm- hhAt =
AZ°AN: IA7L DAL @O 40 +°1¢ LTC# h 40 @ +91¢ ¢ 10 +91¢ @m.+t randomly +eecm (3-8

40 @- 491¢ population £nAA= 10 CE +o14PF L£99° sample L0AA=



9.2 Inductive Generalization 74+ h (& @®g9° haNal evhhA AGee§ P+avim- AMATT A7 L7INEE
Neome+9® A £+ £9°57% avhmt “InT 10

A°AN: (A7L DAN @O 40 914 LSC AS h 40 @ +91¢ ¢ 10 4 +*1¢ @-m+ randomly select +£c7
LFe G ¢ 10 &9° 1914 O-m At NFEF L7 ¢ 1047 TP T O-mt K7L “MNLE +mParT eHY hAn(40)
TUPTF O-m Tt & T 100 ©L9° 00 STFo-: NAT £9°4%7% N0 Inductive Generalization 20AA =

nHA 9°AN:
I°CoB, WPLLN 10 = PAGEN T04P 9°CR ALWPT AT AG havd j0-

[ Etv A757& ¢ A%0 AN 1PLLTHAIAN 20001PLLTT) I 65@ V1P I°CR “1TT TarCANTFU- A PA
ameP (LLLCT AS h 2000 1PLPE 1500 PE AHT 7 AT7a°CANT (Lic: LUT W1 L “INLE Neemed®
ANHUT @ PRS0 AN 1PE ARTT? 10 27LaoCma@- i £9°5% (L.AT argument -+ Inductive
Generalization 1@« “iat j@-:

[] Casual inference

Casual inference - is an argument that procedes from the knowledge of a cause to the knowledge of
effect or from the knowledge of effect to the knowledge of cause.

Casual inference 210+ 907847 A5 O-mA7 aPOlF (191£4 P9Lav( (T 1@
A7L ook (L.GC A5 PH avInh @Mt A7LHY 10 NA7 N7LavL9° cause to effect enaA =

AT"AN 1 @Y G4 @07 NF0PIPm- AT OL 04L& (LPPLC(cause) @ hi @@ (142 U-SA @29 freez
he&CAA (effect) NATFu- £9°8%72 N+am-=

A7L o-mt LTC AT A OmE a@INhO LY 10 A7 £9°57% 70T effect to cause gNaA =
AN A7 1916 416 oL (effect) : POLPD Ah MmTNC NAAMS 1@-(cause) NAT £9°5%9L N7NT=

[JArgument based on sign.

is an argument procedes from the knowledge of a sign to claim about a thing or situation that the
sign symbolizes.

Argument based on sign “1a+ 29°G LF @7 AG LPGNTOAT DT PPANET A7L “INCE NeomP9® Ak
NA“LOnA®: 11C £I°57L oohimt “INT 1@-=

APAN: RLECID RS O TU- FHCE : @t NA7PAGTU 0TI P41 AdT &S P-hA@ aoppt ACIE
Nhe:

P4t A&t aonbel AL PAC Sh(A°AN PP TIC) NF%: aenbk eHANLOT aPhNgf TN TIC NF: RILYT
PANTT A7L “MNLE TmPeTTFU- : (0E 20T 04F AédTF 0A@ aopbt @ NATU- £9°47% F0am-
argument based on sign 20AA:= so,



"Although both the front and rear doors were found open after the burglary, there were pry marks
around the lock on the front door and deposits of mud near the threshold. Therefore, it follows that
the thief entered through the front door."

JArgument from authority.

is an argument that concludes something is true because a presumed expert or witness has said that
it is.

Argument from authority 10t 0A7& ov-f AL 1014 A 10T (@ (ov-f@- K4 NAA 71C VAN LAT :
AN P@7 VAN A7L “MNLE NermPd® POAaD- 2@+ DA FhahA 10 ae /A A0 £9°57% armTt “INT 10+
ALY v-at APT Ak “INT 10 = RICOHT

A0 1: NA7L TIC AL QAP ePT1 N@(A°AN : &G +~ €0 ~ ALFENT+ DTN T OHF) AG Nov-g
W42 NAA 11C UAN PAm:

Ao 2: ¢ A@ 1 7 @EI° PNAa>- M7 UAAl A7L “INLE Naomdd® POAar-f@- YAl +nhd lae £I°572
P9.OAMm@-::

PANLPTT AT ANT:

"Tames Dobson, founder of focus on the family, says that Men has divine obligation to lead their
families and women has divine obligation to submit to their husband's order. Given Dobson's
apparent ability to receive message from God, we must conclude that his statement is true."

207 argument FerAhk: AT Q@ Ak

n@- 1: James Dobson 0215+ avg 1@-= hao- LUL7ITT d@-b+ RTIC 0T A MAFFo- eI : 0h-TF9°
MLAAVCF@7 (A Pov9°e-F VALTF AAFO- A VAN PAM=

n@- 2: James Dobson L2935+ avs QAPT hd.Me aeAdn+t NA“LANAT : ¢0 VA FhhA 10 lae £9°572
?Am::

NAILY (A7E av-@ AL ¢1HO914- A@ oo @< H¢f NAA TIC VAN AT AT POAG- L7 VAN K7 LTINLE
Noem+d® vAlk ThhA 10 i pA A0 L9457 (.07 argument from authority gnaa:

JArgument from Analogy.
is an argument that depends on analogy or similarity between two things or state of affairs.

Argument from Analogy “1a+ v-a-+ AhAa+ O TICT Laeadh ARG LUT aPavANATF@F K7L “INCE
Neemed® (MBAT° TIC LaPANAN Ihe £9°57L avnmt “INF 10 AI°AM:

00 Mekdes is beautiful, tall and clever.
[0Sara is beautiful and tall.
Therefore, Sara is clever.



AUT taopAnE avP LN RS Al UNETS $TE SF@: (HI° STFD: RS L9° avdLh NN GF= (€78 §
N¢art LavaOAfx: GUT avavdnA K7L “INLE Normed® NFNHSI® Lavann e £I°%7% avqm-t “In+I°
R7L avPL A449° INH ST N £I°87L avhmt:

A 9°ah0:

=Facebook is a social media and has many users.
=Telegram is a social media and has many users.

= Facebook gets 500 Millon dollars per year.

= Therefore, Telegram also gets 500 million dollars per year.

AETU- A

&N (KN AS EAET° VRS TWNEE 7L 0 ST : A TmP7L ANF@: 2§ L 4.0 (Fn (hevt 500
AT EAC PITAE VAR TWNEP TLE.L NPSTFED RS AN +mP7l, 100G LTFo LavdnAkz: BY7
AN K7L TINEE NomPd° EhE-9°9° 500 TLALT LAC LITA N £9°87L avpm-t=

©A+ tutorial class SUMMARY OF DEDUCTIVE AND INDUCTIVE ARGUMENT.

[l Deductive argument - The conclusion is claimed to follow necessarily from the premises. So, it
impossible for the premises be true and the conclusion false.

[ Inductive argument - The conclusion is claimed to follow probably from the premises. So, it is
improbable for the premises be true and the conclusion false.

[l Deductive argument - involves necessary reasoning.
[ Inductive argument - involves probabilistic reasoning.

[l Deductive argument - the conclusion is not supposed to contain more information than the
premises.

[ Inductive argument - the conclusion contains more information than the premises.
[l Deductive argument - does not always proceed from General to Particular.

] Inductive argument - does not always proceed from Particular to General.

[0 Argument based on pure Mathematics is Deductive argument.

00 Argument based on statistical mathematics(statistics) is Inductive argument.

ALY DAL PHHLHSTT 700CT PHF@-: true/false AL @EI° LoaAP 9°Cm AL ALOM-T STAN:

[0 The methods that used to determine whether an argument is Deductive or Inductive are:
[0 The actual strength of the inferential link between the premises and the conclusion.
[l Special indicator words.

] Character or form of argument.



U9 NPT ANA N7LFA aoalr WL part AL &G A7&%T ALCI0 LOMN aPAATU-: 4TG0 AL
Pol.eom Fo- argument 7 0 form of argument evAh 1@-: AgAN:

[0 Which one of the following is deductive argument?

A) The rainfall in Ethiopia has been more than 15 inches every year for the past thirty years.
Therefore, the rainfall next year will be more than 15 inches.

B) Alemu is bachelor. Thus, Alemu doesn't get married.
C) Biology is a branch of natural since and has contributed a lot and studies about living things.
Physics is a branch of natural science and has contributed a lot. Therefore, Physics studies about

living things.

D) More than seven hundred students scored 600 and above in last year Entrance Exam. It follows
that, all students who took last year Entrance Exam are clever.

taophk LU TEE = AN Pk LooAATAA? AL A7P@-:

Choice A - prediction 1@+

Choice B - argument from definition y@-:
Choice C - argument from analogy ‘1@-:
Choice D - Inductive generalization @-:

NAILY a°A( B 1o-:

na form of argument ho~7 04+ €1 APTA : TI°CTPA= NALY AU-T7 16T APNLATII: LA TEE:

[0 Which of the following is Inductive argument?
A) Some animals are mammals. No mammals are Americans. Thus, some animals are not Americans.
B) Eyerus is 50 kg. It follows that Eyerus weighs 500N on earth.

C) If I study hard, I will join pass Entrance Exam. If | pass Entrance Exam, I will join a university.
Hence, We may conclude that If I study hard, I will join a university.

D) Lester Brown, universally respected author of the yearly state of the world report has said that
the destruction of tropical rainforests is one of the ten most serious worldwide problems. Thus, it
must be the case that this is indeed a very serious problem.

tavAnk GUT TR ANT ATNC-O-:

Choice A- Categorical syllogism ‘@-:

Choice B- argument based on mathematics 1@+
Choice C- hypothetical syllogism 1®-:

Choice D- argument from Authority 1@-:



NALY aoAn- D o=

AalY v-a79° form of argument 670 VA7 QAN +45%F= W8T U-T P4.41@ argument L.ANTU-
ALNNSTFU-9°=

NA LA LAT®T 19°7 ALYTT aPAN TEA+FATU- aOATF Y=

Argument + eaMFuv-5 types of argument 44 form of argument 96 +00AAFy-=
4 :

(] write the types of argument and form of argument of the following arguments?

1) "Triangle A and Triangle B are congruent with each other and Triangle A is isosceles triangles.
Therefore, Triangle B is isosceles triangle."

Types of argument
Form of argument

2) " Although it is now sunshine, the road is too muddy and the flood impedes viechles. It follows
that, heavy rain was rained a moment ago."

Types of argument
Form of argument

a0t AT AS7T NGt
n+me Evaluating of Arguments A2-+7 chapter 2 A7en.CAA%?:

©A+ tutorial class. [] Chapter Two.
[] Basic Concepts of Logic.

[ Evaluating Arguments.

[ Validity and Soundness

[ Types of Deductive Argument.

Naaé@- F9°vc3T7 deductive argument 9°7 27801 hLHGA=
Hé L9 ¢ deductive argument AR1FT7 AGLAT=

[0 There are two types of deductive argument.
(1) Valid deductive argument or valid argument.

02) Invalid deductive argument or invalid argument.



ANt U-AET9° APPA RTavAhF=

[Valid Argument

[] Valid Argument - is a type of deductive argument such that the premises are assumed true, it is
impossible for the conclusion to be false.

[ Valid Argument - the conclusion follows with strict necessity from the premises.

ant 070 VAF7 AGPLS T RITPhCH

0B PE(Premises) @1+ v-1@- conclusion * @0+ aor? P91 A W't @e9° (AA ANNA conclusion
* 100% a@7t hv'r argument -+ valid argument g0AA =

F9.°2 AILD “INLEPE Ao U0 TN

TNEEPE MNERD AAI° RO ONFP° APE STANE AT AT AL1079°: N10LRO RAP® A@-119°
LU @UTYI° LU ¢ AT U7 (| AP°CATT A0t ST@ QAT ASNAAT= QALY “INLEPE RO Pr

F5.2 "B PE(premises) A@-1t v-i1@- conclusion + @+ eor7 eo12FA hrt valid deductive
argument E0AA: °ANPTT RrevAht:

(JExample 1
All football players are Americans.
Tedy Afro is a football player.

Thus, Tedy afro is an American.

tavink Ut PAn:

All football players are Americans 4§ Tedy Afro is a football player ¢9%.aF premises §F@-:

NP AA° 18 AGC W0 +BPT 10 378  hLLAI:

M1N&P@ RO U-0-9° 00 TBPYT RTUENE GTO 778  RELAI:

AETFU- RELA U-AEP “MNLEPT N104-P0 AAI® @O0 T SCF@ = AT 97 AL1079° @ RO
SFm- A7 1@ assume PG LCIM-= AAHY A0t GFO-

U-c9® 00 FRPET ATLENE hP
+8 A%C 90 TRPT
ALY £8 AFC A LSNP 10-:

+8 AGRC A%LENT 10+ P9A@- conclusion 4.09° @A a7 RETAP: PNTLE L8 AGC (U-9° N0
TRPYF @O 10 PAD: U9 DN TAPEFT LT ALLNP TFO: NALY 15 ATL4NP 10+



[0 So, the argument is valid deductive argument.

AU-7 L9 invalid argument 7 A7oeAht=

(Invalid argument

Invalid argument - is a type of deductive argument such that the premises are assumed true, it is
possible for the conclusion to be false though it is claimed to.

[(Invalid argument - the conclusion does not follow with a strict necessity from the premises.

Al AGNe6-o-

TMNEPE(premises) A@<1+ v-1@- conclusion * @0+ eor} P A herr argument -+ Invalid deductive
argument £0AA =

F8.2 AlD TMNCEPE K@t U1 Tt

NNCEPE 16RO AAP® AOTTI° LU+ BT GUT @ AT NAI°CATT Aot 1@ AT assume
AGLCINT: QALY “1NLEPE Ao STFo-

TMNEEPE ho-rt 1@« conclusion + @@t evr7 29U A he invalid argument 20AA = 9°an
RraoAht

[JExample 2

All football players are Americans.
Tedy Afro is an American.
Therefore, Tedy Afro is football player.

taopnk LUT 9Pa0:
All football players are Americans 4% Tedy Afro is an American ¢e%.A-F premises §F@-:

hag e+t U-A-E9° premises M1N&-R@ AN @0 T GF@: AT AL179° @ A0t TF@- A7 assume
AGLCINTE NALLY “INCEPE Aot CF@- = hi : taoAhk

U9 00 FERPET A LSNP ST
+8 RGC hLLNP 10+
NALLY £4% ASC B0 +RPTF 10
+£8 AFC W0 TRPT 10 0900 conclusion @0+t Py eTFAA: AT LT

AW 0L9°N +haF iy o-&F

A°A0 NAAY® AL 1000 AV 00 TRPFT (L.F% AG NAAY° AL 5000 A92LN@P7 (.54 ATS.U-9° 19 hGC



A"LNP 1=z

U D0 FRPET TIATI° 1000 A.LES 0 HRPYT A%AShe WPr ¢ &V “IAT h 5000 A%LLha-26F
1000 PPt D0 +HBPT GF@-= 4000 POLPHT ATLSN@-£7 D +BPE ALLAI® TINT 1@ NALY S
A&C 0 4000 A%Lh@-P§F aohhA AT ANz “I0F9° 00 +RmPT ALPT STAA: NALY 9% ASC BN
+BPF - P AD ONF aoPF e AAx

hHLY 9°7 A74507
U-te9® 00 FBRPET ATUEN@PT GF® TNt U-9° ATLEND-PT DN TRPET CF@D TNt ARLAIO:
10F0- A 0M9° simple 10-

+o082F we h Example 1 Example 2 9°7 +Z4%F0-? et formula «17+ +FAATFv-= Adk Phét=
ANZAL NPT (kDA AL R16-ThAU-=

nalY deductive argument 7 valid A§ invalid N> a4 l@ @g9° avhd.A validity +0a> eme-A=

NALY hP°ANPE ool ST K7 LFA10- Validity(valid or invalid) 94t premises a4 conclusion 0 1M¢é-Lo-
AAP® RO TF OPGTFO7 0L Ot @PGTF@-r £ 10090 AL premises 4§ conclusion LAF@-7
PN 7L IRt NI @ a0 L I1G £711079° 1@< (ALY

Validity is not determined by the actual truth and falsity of the premises and the conclusion.

e+ True/false A2 i 1L.H LOMA =
NN ATSLAAFTU- PMLT §F haht AAPAThAv-=

©A+ tutorial class. [] av-7 £99° validity 0 actual truth or falsity of the premises and the conclusion
A7 L71LON7 W7o ANt

[l True premises and true conclusion.

0 1RO AAI® A@9T PP premises AG 0 1&-R@ ~AA9® a@-9t+ 01 conclusion 220 deductive
argument valid A7 2FAA @gg invalid A7 eFAA= adt: °anPT7 Wroaht :

JExample 1

All human beings are mortal. Pr.minister Abiy Ahmed is a human being. It follows that pr.minister
Abiy Ahmed is mortal.

tavank: gUT AN

All human beings are mortal 44 Pr.Minister Abiy Ahmed is a human being ?7%L.a+ “LEPT o9
premises §F@x= v-a-k9® TNLEPT O MNP0 AN K@ GTTO-=



Pr.Minister Abiy Ahmed is Mortal ¢9.a@- conclusion N1M&L@ AAP® @1t j@-:
NALY Argument & N10&L@ AAY° true premises A4 true conclusion 1@« fA@-:
0 Argument - valid 1@+ @gn invalid 1o-
0 Valid 1@+ &7%%+F
U-e9t PN@ ALT TUF hors
m/LLNTC A 0L Aver e (@ =

NALY m/TL20TC AL Avor e 7T j@-x

M/ LL0TC ANE Avar g “1F 1@+ ¢99A@- conclusion @A+ aoP? ALTAI: 9°n72k9° ANG Averg: (I
U9 ¢ A0 AZT @07 10 0900 e9° LA ALT LA T GF@-x

ALY A7£ Deductive argument 010¢&-€@- Aa9° true premises 44§ true conclusion *¢+ valid oo
[ 2LV

all. AU-7 £99° deductive argument 1 1¢-R@- AAY° true premises a4 true conclusion *¢-F invalid
@P7 W7LOLTA WraAhT=

(Example 2
All beers are beverages. 417 (.¢- is a beverage. Therefore, 477 0.¢- is a beer.

All beers are beverages a6 4717 (L¢- is a beverage foL.at premises NiM&R@ AAT° @1+ GF@- =
417 (¢ is a beer 7A@ conclusion N1N&R Aa9® A@-rt 10
NALLY argument & 0710&L@+ AA9° true premises A5 true conclusion 1@« fa@-:
0 Argument - valid 1@« ®gn invalid -
[ invalid @<= A7 %*
ALD 091.09°3 3 Lavhadz: (FhA AL ECOADT R11&THhAV: AR A0E RT%0 AGNE&0x Favphk:
U LEPTF aomeT §TF@o= gy TN 17 U9 ommT (Lé STF@ TNt AeLATCx
807 e omT 102 F9.°2 ST (L& PHIAD- oot (L& ALPT STAA 9°NT2EP° a9 L&PTF aomT
SFO KT8, U-9° aommF (L& NAAPH=

NALLY &7 (L¢- is a beer e99.4@- conclusion @0+ A7 &FAA= aAHY invalid 1@

0 10&R@ AAI° KD ST7 (L& A (L& 10+ = 97 validity PeL.@01@- (1 premises 4§ 0 conclusion
aohhA MA@ 29°07 8 3Bt NI° LS 1@ K7 ¥, premises G conclusion MAF@- 14E A@-1F hELAT:



NALLY A7& deductive argument Ni&-L@- AAY° true premises A% true conclusion *@+ argument -

invalid a7 gFan=

[ True premises and false conclusion.

Al AUT L99° (I 10RO+ AAT° “INCE PE(premises) A@-1F U+ &G conclusion * @At Ut
deductive argument 7 a7aeAh-t=

A7& deductive argument M10&R@+ AA° “INLEPE(premises) A@-rF v-1@<: N1NERD AAT® LA
conclusion * @@+ hrr argument -+ v-ALRY (.7 invalid 1@<= valid eor7 AgTFa9°=

Pt &G AL NATLOM:
ant °an w7evAnt:

(Example
All beers are beverages.
Coca Cola is a beverage.

Therefore, Coca Cola is a beer.

M1N&L@« AAY° true premises a5 false conclusion @« fa®-: invalid 1@+

[] False premises and true conclusion.

07100+ AA9° @0-T PP1 premises A5 01 R@+ ha9° a@-1+ £ conclusion ££1 deductive
argument valid A.r7 2FaA @29 L invalid A7 eFaA= Alt °A0PTFT WTovAht=

[Example 1
human being is not mammal.
Hens are human beings.

Therefore, Hens are not mammals.

AU-7 ook

0 All human beings are not mammals 44 Hens are human beings ¢e%.a-F premises §F@-: v-a-:9°
MN&PD RAP® 0T TTO P°N70E9° N@ AP AT, 10« AF L &C (@ hLLAT"

Hens are not mammals ?92.a@- conclusion £99° Mié&-PD AN A@-TT 10 N7 LRI &C ATIL
ALLNI°:

242 Argument - valid 1@+ @gn invalid[]
[ Valid 1@ &7 %F

tavik :



PA@- AP AT ALLAI°:
&C P @ AP Gt
NAILY 2C ATN. ALLATI°:

¢ ATN ALLATI® ?7L.A@- conclusion @A+ ey ALTA = PRILEI &C ND- AP G : PAD AF
LA AP0 ALLAJ° : NALY &C AP0 ALLATI°:

nAlLY A7£ deductive argument N1é-2 Aa9° false premises a5 true conclusion ¢+t valid eevr7
[ V-

All. AU-7 L9 A7& deductive argument 0104 R@+ AA9° false premises a4 true conclusion *C+
invalid e®vr7 a7 L7LFA ArovAhF=

[JExample 2
Animals have cell wall.
Dogs have cell wall.

Therefore, dogs are animals.

Animals have cell wall a5 dogs have cell wall 704+ premise §F@-= v-a-k9° M10&RO RO @O0+
STz N1k RIAAET 007 a9°c cell wall pAFo-g°:

Dogs are animals ¢9%.a@- conclusion 01&L@ Aa9® A@-1F 10

4.2 argument - valid or invalid[]

[ Invalid 1@-= A7 &+

Dogs are animals fo.a@- conclusion @i+ o7 LFAd=z N7k : arnAatF cell wall AaFo-: gy
“nt 7 cell wall £AF@- lov-f A70AT GSF@ TInF AL LAT°: DALY @d cell wall Aa@- 79t P8
AT0AT 10« TINT ALLAT": N7 eE9° cell wall LAT @ (oo RWTOAT TTF@ TIaT NAALA: ALY invalid
b [ H]

nALY A7£ deductive argument 0104 R@- AAg° false premises 45 true conclusion ¢+ invalid
argument eor7 L AA=

[] False premises and false conclusion.

NLEPE(premises) N1N&P@ AN @0 T U-10+ W7450-9° conclusion * M10&R@+ AA® 0T U-F
argument - valid A.P7 eFaA @e9® invalid A.P7? LFAA= 9°an

[0 Example 1

All human beings are immortal.
Plants are human beings.
Therefore, plants are immortal.



[Valid 1@-=

(JExample 2
All human beings are immortal.
Cats are immortal.

Therefore, cats are human beings.

[ Invalid 1@-=

[[Soundness

There are two types of deductive arguments.

(1) Sound deductive argument or sound argument.

02) Unsound deductive argument or unsound argument.

nAnY deductive argument 7 sound a5 unsound A° a2hd.A @LI° v lF soundness L0AA:
Al U-aE79° A7aeAh I TFo-:

[0 Sound argument - is a type of deductive argument that is valid and has all factually true
premises.

Sound argument “7a+ argument - valid P01 A5 “10LEPE(premises) N1N&R@ AN A@-1F Pk
ANALY

A7& deductive argument sound aeeaA v-at TICTT OFarAAL LH “190AT AANT=

17) valid eovr7 Aan+
2%) MG PE(premises) N1N&-P@ AAS® A@1t aoP7 AAN+F:= NARY

[0 Sound argument = valid argument + true premises.

TANLTT RrovAht:

(Example 1
All planets revolve around the sun.
Earth is a planet.

Therefore, Earth revolves around the sun.

[] Sound 1@+ A7 L+

o729 argument -k valid 1@ A7%.0-9° “10LEPE(premises) N1N&PO ANT® AOTT GT o=



A7 %t valid A7 801 “INCAT ALmNPNH9° 907019 validity 7 +4&FTFu-FA garhaFAax

[0 Unsound argument - is a type of deductive argument that is invalid.

[0 Unsound argument - is a type of deductive argument that is valid but the premises are factually
false.

Unsound argument “?a- invalid argument 1@-= 17 4.0-9°
Unsound argument 74+ valid argument v-¢ 11C 7 “10LEPE(premises) M1&-L@ AaF® @A+ PP

(0 Example 1
All Ethiopians are Egyptians.
Biniyam is an Ethiopian.

Therefore, Biniyam is an Egyptian.

0 Argument valid 1@+ = 11¢ <907 All Ethiopians are Egyptians ¢e%.A@- premises 01M&L@ AA9° @<+
1@ NARLY argument -+ unsound @«

[JExample 2
All human beings are mortal.
Cats are mortal.

Therefore, cats are human beings.

0 Argument - invalid 1@+ daHv unsound 1@+ “Ia+t ‘1@-:

Afl. PHE@ NAN (LY AN = ATIMPAA PUA:

[ Validity is determined by the inferential link between the premises and the conclusion.

] Soundness is determined by both the inferential link and the factual link between the premises and
the conclusion.

N  eF APEATA AU

©A+ tutorial class.



The relationship between the validity of a deductive argument and the truth and falsity of its

premuses and conclusions summanzed as follows.

Table 1.1
Premises Conclusion Validity
Trrie True Validdnvenlid
True False Tnvalid
False True Validdmvalid
False False Validdimealid




argument

Vakid
argument

All true
premise




Table 1.1 Deductive Arguments

Valid Invalid

True All wines are beverages. All wines are beverages.
premises Chardonnay is a wine. Chardonnay is a beverage.

True Therefore, chardonnay is Therefore, chardonnay is a wine.
conclusion a beverage. (unsound)

[sound)

True All wines are beverages.
premises Ginger ale is a beverage.

False Mone exist Therefore, ginger ale is a wine.
conclusion [unsound]

False All wines are soft drinks. All wines are whiskeys.
premises Ginger ale is a wine. Chardonnay is a whiskey.

True Theretore, ginger ale is a Therefore, chardonnay is a wine.
conclusion soft drink. [unsound)

[unsound]

False All wines are whiskeys. All wines are whiskeys.
premises Ginger ale is a wine. Ginger ale is a whiskey.

False Therefore, ginger ale is Therefore, ginger ale is a wine.
conclusion a whiskey. [unsound]

[unsound]




[JCHAPTER 5
OINFORMAL FALLACIES
(What is Fallacy?

A fallacy, in most general terms, is an error or defect or mistake commited in arguments.
NPT "Fallacy" PoL.A@7 $A "v08" NTLAD: Lo FAT TIC 17 PaT 0L70 IAS P7LLLCT1D FCTI°
"NANT/NNT LIt AdtAN PoLhOT avtt: okt Po18aan TIC 17 APTT 0ULeNE.."

[Depending on the kind of the problems or defects they contain, (i.e., the problems or defects that
make them fallacious), arguments may commit either a formal or an informal fallacy. As a result,
they are often grouped in two:

Formal fallacies and
Informal fallacies

[Formal Fallacy is When an argument contains a #structural defect or problem and violates the
standard form of a good argument.
eV TInt N7A0F @« ¢+PLLE NCYT AFOF 27T AAAT Phaonie AV-HT “IAT 1@-x

PALET TICHES LPARE hbolovy NF h@tT NPT PP TTATO GF@-=

anh, @7 °an t+avhhk
All Freshmans are Clevers.
Therefore, All Clevers are Freshmans.

APE h £% hu-7 Structural defect haNts= v-a9® €&T917 10U 10 FINF U-h-9° 0N F&T17 10 TINT
ALLATH

naly Formal Fallacy? a74.0- A23Tv- eoa+ +Taato-! L9 earchTu- "formal fallacy are only
found in Deductive Argument." A7 Categorical, hypothetical, disjunctive syllogism formal fallacy7
Commit A.£&7 LT An=

AONL AA A0 AMIPCATU-

All Elephants are animals.
All mammals are animals.
Therefore, all elephants are mammals.

A749 AL'rET hU-7 OeAn informal fallacy eersF@-7 PArgumenta7 Structure 0F nevavAht ovpet
T ATy

JINFORMAL FALLACIES

[Is a fallacy, which is committed due to a defect in the very content of an argument, other than in its
structure of form.

Informal fallacies cannot be identified through mere inspection of the form or structure of the
argument.



"Informal Fallacy"7? 0A91CE 07 tiérora "\ PAFES AL+ TICE aoPPC ALPT #LHJFOF (\avavCar(
AFOE P9 0 RAAT Phornie AL LT “Int o=

Informal fallacy®¥ 004t FanA% Argument geenan: ALT7 eo9a007 SLA AATFO 1IC 17 O
G M-z

anh. A7& tfinformal fallacy °an a7eeAht [h5a eHo0L]

All factories are plants.
All plants are things that contain chlorophyll. Therefore, all factories are things that contain
chlorophyll.

0.2 Fhhad argument £ePnAA A? 11C 17 ALLA! " Plant" ¢e1.a@- Word tavEavg -6 PU-n-1+5 -
Sentence @-at Ptmearnt Context A78 hLag°! favBarCfm- ag Plant m1at "+tavad-+: ha( ant:
Ad-Nsh..)"

PU-at+5@- ag Plant 214+ 9% 21+ 10-=

nalLY Formh A74Y A7 2FAaA

All A are B.
All B are C.

Therefore, All A are C.

AEE A NL70 hANFPATU-F informal fallacy? aeeaet 70 hag -

Now a day, more than 100 fallacies have been invented. Now let's see some of them.
@EavsP AN RW1LPINTU- 0T ehade@-7 Photo tovahk

1[Fallacies of Relevance

Arguments in which the premise is logically irrelevant to establish the conclusion. (Except missing
the point)

In this fallacy, although the premise is logically irrelevant, #Psychologically it could be relevant to

the conclusion.
at9° the connection between premises and conclusion is emotional. Such arguments are often

called non sequiturs ®g9°> Argumentative leaps 4+fld> &mé-i-=
av/ B VA hor Q9P e@- IC A0t haaa@- Fallacy of Relevance gnaa:
n°an A7 87U+ Ky nc a9°7+(8) fallacies of relevance a§2A7=

1. Appeal to Force
[Argumentum Ad Baculum]

[Occurs when an arguer poses a conclusion to another person and tells that person either implicitly
or explicitly that some harm will come to him if he does not accept the conclusion.



£% "TNLE (M9 W1der] GAP (HF APALTE ATITTT £9LLL LAV ANTANQ G@-x"
anh. AE7 °an A%AT: AT AAT.-

"My boy, you must study hard, if not you will be either a criminal or a beggar."
[(IThis fallacy always involves a threat by the arguer to the physical or psychological well- being of

the listener.
NB: 11¢ 97 Argumentha. Q@<0m- HFG “I0d.c-¢+ NALH F Appeal to Force 10« @10+ A7TFAP=

2. Appeal to Pity
[Argumentum ad misericordiam]

Is committed when one is persuaded to accept the conclusion because of pity or sympathy.

LY LA TINLE ho1PlAN SAP #0717 P7LANTIO7 ACT1TT T ALI°NC 990.£.09° eav-tT AQFAN 1@0-=
happeal to force ¢?oLaf@-:-

£ 17104.4-¢t 1o-[Force] gvF@- L9 (“1a17 [pity] 1@-=
fio 10 .0 @f NATANG AL NA“LLCAD: 5T £5146-A LUVT@ L7 NMAN-E AL NALLCND T+5T
[unfortunate consequence] £51¢-Ax=

anh, A7£ 9°an A700NE&
A weak student to his instructor

IIPr



Informal Fallacies

* There are five main types of informal
fallacies, comprising a total of 20 cases.

* There are 5 main types:
— A) Fallacies of relevance
— B) Fallacies of weak induction
— C) Fallacies of presumption
— D) Fallacies of ambiguity
— E) Fallacies of grammatical analogy.
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Professor, hear me once please. I should deserve at least a B in this course. If I do not, I will be in
Prohibition and total lose of moral courage to attend other courses."

3. Appeal to People
[Argumentum ad Populum]

Is committed whenever anyone urging the acceptance of a claim by arousing strong feelings that
may leaf audiences to accept the claim without a logical justigication of it.

2y LaAP VN7 0Lt (7100  LLATTT AT ALPhC £920.4.09° LAVt T ANFANA 10

Two approaches are involved in appeal to people fallacy:
[Jdirect and
[indirect.

OThe direct approach occurs when an arguer, addressing a large group of people, excites the
emotions and enthusiasm of the crowd to win acceptance for his or her conclusion.

Ag°an a7 Hitler evne7 072t 0°1194°+S Qevdndn 10C (0N PHETIET aoCH hédan 154 PH.S A@- U-i
AAPT PTL.0avm-:

(In the indirect approach, the arguer aims his or her appeal not at the crowd as a whole but at one
or more individuals separately.

LU LA ANNNT P7eCN “100f 1@-= There are Three forms of indirect approach
[JAppeal to Bandwagon

Emphasizes that the majority's choice is a correct one and urges audiences to join them
2y “Int "h T @ (@ tPNA AT WTH FPNAD" Tt j@-:

Eg. " Many Freshman Students study in library so, Studying in library is the best for freshman
students"

[Appeal to Vanity
NFoae 3 Fo- W75 20 APT AA“LmPar-0t A7 NTme?0t+ PHITE W C LFLIA:

Eg. "Who is going to wear this new fashion dress, a dress worn by the famous Aster Awoke in her
New Year's Sheraten Hotel's Show?"

[JAppeal to Snobbery

P04 APTFT avpdn @RI AMNT #P0AL (Superior) oo §AYT

Eg. "The newly produced Malt Guiness is not for everyone to drink. But you are different from other
people, aren't you? Therefore, the newly malt guiness is for you.

OIn Birhanu direct and indirect approach to appeal to the people fallacy the arguer targeted on
exploiting strong emotions of the people.



4. Argument against The Person
[Argumentum Ad Hominem] [JFallacies of Weak Induction

This types of fallacies usually appears in inductive arguments.
ALY AT PP P19°3 R ANFANN AP PT G @-x

Chapter 2 ag ag#Fo- inductive arguments A defect n.&mc Fallacies of weak induction are
committed a7aA%:=

The premises of the argument may be relevant but not sufficient to establish a conclusion.

9. Appeal to Unqualified Authority
[Argumentum Ad Verecandium]

Sometimes we are in need of the suggestion, comment, advice and information of others that would
enable us to reach a conclusion of our own.

However, The person that we relied on to provide the information that we seek might be unreliable.

8% alE AAmT NPT PARADT (D AT LI JPANC “1L L 10

ag°an: " Dr. Ismail, who is the famous biochemist in this country, told me last night that all

economic policies of this country are wrong. It implies thay, this country's Economic policy is
wrong."

APE Dr. Ismail (whg°s F+AP AAMNT AA® “IAT DA KA TIC PAM@ 700 ThhA 10 TIAT RELAI°=
W@ 2C +£LH 17 DA ADToLO- *10¢-CLD7 2am@- Economist L7 §¢ Appeal to Authority @eg®
Appeal to expert opinion 1@+ ¢9.0A®-:

NALY NAT1L10F0- @L9° NL70 NATIF@-&+ TIC “Té-Lf haeqmd +#m]] So that you do not commit
this fallacy[]

10. Appeal to Ignorance
[Argumentum ad ignorantiam]

This Fallacy is committed when one's conclusion is supported by one's own ignorance, lack of
evidence or lack of tangible information or knowledge.

A olB@ TNNAT A@-b T ALTLT RTLIGD-P@- P17 avL9°Lo1.¢ aopmt= 2% Fallacy ot ao71&
ALmC STAA:-

[Arguing that something is True Because no one has proved to be false.
WAt W&V NAATLIIM A1t 10 TINT)

[JArguing that something is false Because no one Hassan proved it to be True. (a@1t &780%
NAATZIIm @TF 10 7I0T)

Egl. "Life After death is real, since no one has proved that there is no such thing as life after death."



Eg2. "Life after death is a myth, because no one yet proved that it is real."
11. Hasty Generalization Fallacy

This fallacy is just the opposite of Accident fallacy.
It is drawing a conclusion or reaching a certain point of generalization from too small evidences.

ntont og9® nret alBEPT NF i ovLIPLTEe NT0E- 991.4.mC CANTANN Ot @

Eg. "Addis Zemen Gazeta carried an interview to know the reading skill among young people. It has
found out that, among ten young people it interviewed, none of them read a book for the last two
years. The conclusion is obvious: all young people in the country do not have the culture of reading
books."

12) False Cause Fallacy

Is Committed when someone infering causal explanations from premises that do not provide
sufficient evidence to it.

POYtT ai0hT avlE NG LCT PoL4.mC Fallacy 1@-= nnt A2t fFalse cause fallacy A1t ha

[Post hoc ergo propter hoc fallacy

o7 7700 h0SER

This fallacy is committed when we arrive at a certain conclusion by claiming that one thing is the
cause of another thing Because it preceds by the time.

AT°ANT "G AR PSTU- @L AN APRSTU- PP PRC &C o7& AR WEE hiLf £77 415 h3/10
NFaem- £ 2C 10 W75 £417% 0Fe " 2y post hoc...1@-=

nA 9°an " Ever since we quit going to church, our business has been going to worse. If we start
attending church our business would become good"

[ONon causa pro causa fallacy

[[Not the cause for the cause 1A+ 10-:
av ik, aoP7 P91210M a0k, PT L.ONEL =

Egl. "aa, &7 &F 0181 mTRe L1 A"

Eg2. "What makes Africans poor is because they are black people."
[JOverSimplified cause fallacy

A7 11C Aevank A PNTEET AfMt A78T NF AFmPE 1Ll

Eg. "Don't worry; she will be all right from her abdominal sicknes. I gave her good advices"



Naeehet NF9° RQAATI°: 1IC 17 hwor), K7L 3119° 9°NC W75 N1t AP7T STAA=

13. Slippery Slope Fallacy

[is a species of negative reasoning from consequences, used where two parties are deliberating
together and one warns the other not to take a contemplated action.

AThOET ULFPT U @L9° o lT AR ALLND- N0 TFoIC ParBavs @y PPN TLT tmPE 1L Lk

A“2Aan:-

Student: I do have a question, teacher.
Teacher: I will not allow you to ask me because, If I allow you to ask me, others will start asking me
and as a result I will not have enough time for my lecture. 14. Weak Analogy

LF AN S P LAPT PPANNT ANTANN F@-x

Eg. " My instructor's car is blue in colour, its speed is 180km/h and it is made in Germany. My
sister's new car is also blue and has speed of 180k./h. Therefore, my sister's car is also made in
Germany."

n+me na Fallacies Of Presumption a5 .£a7:=

070N A7 PHALE °ANPTT +ATIams.
@Ucan_Scorebot

©A+ Tutorial Class Fallacies Of Presumption

These Fallacies arise not because the premises are irrelevant to the conclusion or provide sufficient
reason But because the premises presume what they purport to prove.

AmPES AA LS PULIE TAETT ALNNNN 19706 aL9°L o). AaehmmT av9°hC “InT 10-=

15. Begging the Question
[Petitio Principii]

OThe fallacy of begging the question occurs when an argument's premises assume the truth of the
conclusion, instead of supporting it. In other words, you assume without proof the stand/position.

T PULLNINDT 148 (FHPPSL W7 &T1PNA® 0TmeP: £% fallacy A der- "Arguing in A circle" gnaa:
$£ RILYT 7°90 tovin-k:

Egl. "I believe the President is telling the truth because he says he is telling the truth."
Eg2. "God exists because I do not want to be sent to hell."
16. Complex question

[It is committed when someone asks a question that presupposes something that has not been
proven or accepted by all the people involved.



U0t A7 NF FAETU- PR OhmPR T OEmPP@T ATPSTU- AT ETPON 714 10

A°AN "hz A7%7 A+ Tutorial +21¢7 hAd @01 4N o2& AT AdavYA? A% INLPD: "KRP /DL
ABLAT" A" NaPAN @B avsf 4N L4 RTLINC AT°SA “INT 1@-=

Eg2. " Have You stopped dating girls?
Eg3. " Have you still proud of yourself being a man having many wives?"

17. False Dichotomy

[JWhen the arguer assumes that only two alternatives possible in a given situation (that is impossible
to be outside of these two choices).

VAT 194-¢ AT 71PN A75%7 K7L T70°CT TIN1LE 105 8% fallacy - N9° Aao- Black and White
thinking, false dilemma...

Egl. "If you are not for me, you must be against me."

Eg2. " The TPLF has only two options; that is either 2% aam-+ or e»L9°an"

18. Suppressed Evidence

TU@7 vl 1eeO\DOC A1, VAT aoLEPTF avg9°La) ¢ 7ol AL av /N

Egl "Addis Ababa University is one of the prominent and good universities in Africa, because the
colour of the buildings are impressive, the flowers and other plants get enough water and it has
sample gates around the compound."

ALER _L0CNT@ 9°CT 10 A“INT PHmPar(F7 9°n700TT NFIUCT Tét AP MA TIC W7L avlF
+mPI® @i avLI°LT) ¢ PAM®-:

Fallacies of Ambiguity

These fallacies are Committed when misleading or wrong conclusions of an argument is drawn from
ambiguous words or statements.

19. Equivocation
OIn equivocation fallacy the #Word is used in two different senses.

MA7& AN K77 PA AT FCTP° RT5.8H PS 7P AL A.o-A P7Lhat Ot o=

Egl. "The music that i have heard yesterday in Cinema Ethiopia was #sweet. I have made a #sweet
talk there with the person That I couldn't recognize him now. Hence, I couldn't recognize the music
that I heard yesterday in Cinema."

20. The Fallacy of Amphibody

(The fallacy of amphiboly happens when someone uses grammar or punctuation in a way that a



statement could be interpreted as having more than one meaning, so it is unclear what is really
meant.

LYT @ AT APT OFaat 2272 APAD laomPI°® 2904744 PN, TIC ‘10-:

Eg. "Arega Told me that he always quarrels with his father when he is drunk.
This statement can be interpreted in two ways
Listenerl- "So, it is the continuous intoxication of Arega that causes the quarrel Against his father"

Listener2- "No, It is Arega's father who is continuously drinking"

AP%ER "He" ¢71.A@- Pronoun forama-y hwt++: hEquivocation 2¢ a74e2e0F0-: £5o Word(Phrase)
@< Amphiboly 97 Grammatical v+t 1o

Fallacies of Grammatical Analogy

21. Fallacy of Composition

[If some one argue that:

[JWhat is true of each part (some part) of a whole is also necessarily true for the whole itself.

then QYé PPS@ AhA QY6 10 e “1avy: AF°AM:-

"Each member of the team is married; therefore the team must have married."

<7 hHasty generalization fallacy 2¢ &7429°3 30Fu-!
[Composition hMembers/ Parts of the whole 2¢ 1@< 711957 ®@-=

22. Fallacy of Division
(It is the opposite of fallacy of Composition, it is committed when some one argues that:
(What is True of a Whole is also necessirly true for its parts

£V PPGm-7 RA OVé PATAER@NARE) Ve 7184 10

Eg. "The USA is the richest country in the World. Hence, my uncle who live there must be wealth
too."

2% 299 hAccident fallacy 2c A74£9°7 F0Fu-!

The End!
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